
SAP ABAP table CIAP_C_ACCOUNT {Identify the accounting of expenses and ICMS to be paid}

CIAP_C_ACCOUNT

MANDT [CLNT (3)]

COMPANY_CODE [CHAR (4)]

TRANSACTION_TYPE [CHAR (3)]

ICMS_TO_RECOVER_ACCOUNT [CHAR (10)]

ICMS_TO_PAY_ACCOUNT [CHAR (10)]

EXPENSES_ACCOUNT [CHAR (10)]

SKA1

MANDT [CLNT (3)]

KTOPL [CHAR (4)]

SAKNR [CHAR (10)]

 CIAP_C_ACCOUNT-EXPENSES_ACCOUNT = SKA1-SAKNR 

0..N
1  CIAP_C_ACCOUNT-ICMS_TO_PAY_ACCOUNT = SKA1-SAKNR 

0..N

1  CIAP_C_ACCOUNT-ICMS_TO_RECOVER_ACCOUNT = SKA1-SAKNR 0..N

1 T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 CIAP_C_ACCOUNT-COMPANY_CODE = T001-BUKRS 

0..N

1

TABW

MANDT [CLNT (3)]

BWASL [CHAR (3)]

 CIAP_C_ACCOUNT-TRANSACTION_TYPE = TABW-BWASL 

0..N

1


